PHIMO MOCK 2020 KINDERGARTEN

Part 1: 1st to 10th Multiple-choice Questions

1.  Jose can fill two empty buckets with water in one minute. He finished filling the buckets after 5
minutes. How many buckets did Jose filled up?

JoseRTBUE— 4 BP0k . 5 0HIR, AARATAT ORI . Joseilf T 2 M2

1 minute

(@) 5 (b) 7 (c) 10 (d) 12

2.  Maria sells flower bouquets every Mother’s day. One bouquet is made up of 1 sunflower, 3 roses, 3
carnations and 2 daises. How many flowers are needed for Maria to sell 2 bouquets during the

day? N o . - i
MariaBF MR A S EA R . —IRH 12 H% . 38, 3 JefERM 2 2426 48, MariaF

RFTGEL DAACARESEH 2 K2

@@ 9 (b) 12 (c) 18 d) 27

3. Agreen ball weighs 6 kilograms while a brown ball weighs 4 kilograms. How many brown balls are
needed to put on the [ ] to balance the scale?

LROIRE 6 AT, PREIRE 4 AT TEAEL] BE DR aBOR-FERE?
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Part 2: 11th to 25t Multiple-choice Questions

11. What number should replace A to make the number bonds correct?

I3z A 2B R A A RERE R 4 IR A 2

© L

12.  What number should be put in the - ?
IVAZZ VAN R e

7 2

Subtract 2 12
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22. If ¥=3 and A=5, find the value of

R wv=3 1 A=5, 3k
V4+V4+ V4 V4V 4+ V1V —A— A— A— A=

23. Alan has a piece of rectangular paper. If he makes one cut across it, he will get two pieces of pa-
per. At most how ma %pleces of paper will he get if he makes 2 cuts across the paper?

AlanF—5RTTFERIER. IR E ”Tﬁ b AT 2Bk AR. AR ELR BT 2
X, MRz afEl2 ikdie

24. Kris and Carla are of the same age. If the sum of their ages now is 14, how old is Carla?

Kris #l Carla [F] %% o WARABATIINAE IAERS S A2 14 %, B4 Carla JL%/?






